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1. Glycerol, , is an

important constituent in the biological

synthesis of fats. 

Does glycerol have a plane of symmetry? If so,

write a three-dimensional structure for

glycerol and indicate where it is.

View Text Solution

CH2OHCHOHCH2OH

2. Glycerol, , is an

important constituent in the biological

CH2OHCHOHCH2OH

https://dl.doubtnut.com/l/_pNSl7sQowLYA
https://dl.doubtnut.com/l/_2l0SvjOSrSsq


synthesis of fats. 

Is glycerol chiral?

View Text Solution

3. Shown here is an enantiomer of

bromochlorofluoroiodomethane. Is it ( R ) Or (

S )? 

View Text Solution

https://dl.doubtnut.com/l/_2l0SvjOSrSsq
https://dl.doubtnut.com/l/_ZEywWhgyG97h


4. Consider the following pair of structures

and tell whether they represent enantiomers

or two molecules of the same compound in

different orientations: 

View Text Solution

5. What is the actual stereoisomeric

composition of the mixture referred to above?

View Text Solution

https://dl.doubtnut.com/l/_0Prf1JdOmnAo
https://dl.doubtnut.com/l/_CzWCi2NBWdUM


6. Which of the following is a meso

compound? 

View Text Solution

7. When ( R )-1- bromo -2-butanol reacts with KI

in acetone the product is 1-iodo-2-butanol.

Would the product be ( R ) or ( S )?

View Text Solution

https://dl.doubtnut.com/l/_CzWCi2NBWdUM
https://dl.doubtnut.com/l/_Ov9LdCzwcZFP
https://dl.doubtnut.com/l/_x9hw5hsj8hqm


8. Draw the most stable enol tautomers for

each of the following: 

View Text Solution

9. Draw the most stable enol tautomers for

each of the following: 

View Text Solution

https://dl.doubtnut.com/l/_G87hnjArNM1f
https://dl.doubtnut.com/l/_WQySFwoUooea
https://dl.doubtnut.com/l/_n8R5be1tqhyu


10. Draw the most stable enol tautomers for

each of the following: 

View Text Solution

11. Draw the most stable enol tautomers for

each of the following: 

View Text Solution

CH3CH2

O

∣ ∣

CCH2

O

∣ ∣

CCH2CH3

https://dl.doubtnut.com/l/_n8R5be1tqhyu
https://dl.doubtnut.com/l/_OwmjOV4y2VIW
https://dl.doubtnut.com/l/_QdJAQIanFalM


12. Draw the most stable enol tautomers for

each of the following: 

View Text Solution

13. Provide an example indicating which of the

hydrogen(s) would be exchanged for

deuterium following base treatment I .

View Text Solution

D2O

https://dl.doubtnut.com/l/_QdJAQIanFalM
https://dl.doubtnut.com/l/_XhZNlUihiA6D
https://dl.doubtnut.com/l/_5IE1rhGOA3RK


14. Glycerol, , is an

important constituent in the biological

synthesis of fats. 

Does glycerol have a plane of symmetry? If so,

write a three-dimensional structure for

glycerol and indicate where it is.

View Text Solution

CH2OHCHOHCH2OH

15. Glycerol, , is an

important constituent in the biological

CH2OHCHOHCH2OH

https://dl.doubtnut.com/l/_5IE1rhGOA3RK
https://dl.doubtnut.com/l/_xDCvQsAV2qc9


synthesis of fats. 

Is glycerol chiral?

View Text Solution

16. Shown here is an enantiomer of

bromochlorofluoroiodomethane. Is it ( R ) Or (

S )? 

View Text Solution

https://dl.doubtnut.com/l/_xDCvQsAV2qc9
https://dl.doubtnut.com/l/_eeUNAeWGNNwT


17. Consider the following pair of structures

and tell whether they represent enantiomers

or two molecules of the same compound in

different orientations: 

View Text Solution

18. What is the actual stereoisomeric

composition of the mixture referred to above?

View Text Solution

https://dl.doubtnut.com/l/_yYFJFzMvS7Xk
https://dl.doubtnut.com/l/_HHye9rf9HjXV


19. Which of the following is a meso

compound? 

View Text Solution

20. When ( R )-1- bromo -2-butanol reacts with

KI in acetone the product is 1-iodo-2-butanol.

Would the product be ( R ) or ( S )?

View Text Solution

https://dl.doubtnut.com/l/_HHye9rf9HjXV
https://dl.doubtnut.com/l/_EICg4t4eSCWE
https://dl.doubtnut.com/l/_UvLJjgbUksMC


21. Draw the most stable enol tautomers for

each of the following: 

View Text Solution

22. Draw the most stable enol tautomers for

each of the following: 

View Text Solution

https://dl.doubtnut.com/l/_Ow87oDSUZ81t
https://dl.doubtnut.com/l/_qbJiE2Dy5dY5
https://dl.doubtnut.com/l/_QkGeF6QAzHnW


23. Draw the most stable enol tautomers for

each of the following: 

View Text Solution

24. Draw the most stable enol tautomers for

each of the following: 

View Text Solution

CH3CH2

O

∣ ∣

CCH2

O

∣ ∣

CCH2CH3

https://dl.doubtnut.com/l/_QkGeF6QAzHnW
https://dl.doubtnut.com/l/_iqkesOHIH80w
https://dl.doubtnut.com/l/_vZcZrWf3EcMw


25. Draw the most stable enol tautomers for

each of the following: 

View Text Solution

26. Provide an example indicating which of the

hydrogen(s) would be exchanged for

deuterium following base treatment I .

View Text Solution

D2O

https://dl.doubtnut.com/l/_vZcZrWf3EcMw
https://dl.doubtnut.com/l/_klwLCYIYqhND


Additional Objective Questions

1. Which of the following pairs of structures fo

not represent isomers?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_kuBT18vrBxt3


2. Only two isomers of monochloro product is

possible for

A. n=butane.

B. 2,4-demethyl pentane.

C. benzene.

D. 1-methyl propane.

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_kuBT18vrBxt3
https://dl.doubtnut.com/l/_TItcTLeRzQ7H


3. The enol form of acetone, after prolonged

treatment with , gives

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

D2O

CH3 −

OD

∣

C = CH2

CH3 −

O

∣ ∣

C − CH3

CH2 −

O

∣ ∣

C − CH2D

CD3 −

OD

∣

C = CD2

https://dl.doubtnut.com/l/_TFiGWNcy8r8z


4. Which of the following is formed as

intermediate in ketoenol isomerism?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_TFiGWNcy8r8z
https://dl.doubtnut.com/l/_PlEp6fuYaif3


5. How many optically active stereoisomers are

possible for butane-2,3-diol?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

1

2

3

4

https://dl.doubtnut.com/l/_7wHOdAALgQxU
https://dl.doubtnut.com/l/_lJpuNCYQ0qbR


6. Which of the following compound have

almost 100% enol content?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_lJpuNCYQ0qbR


7. The number of isomers for the compound

with molecular formula  is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

C2BrClFl

3

4

5

6

https://dl.doubtnut.com/l/_ypiOmIAEpTZZ
https://dl.doubtnut.com/l/_MjZc1v72Oyco


8. On monochlorination of 2-methylbutane,

the total number of chiral compounds formed

is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

2

4

6

8

https://dl.doubtnut.com/l/_MjZc1v72Oyco
https://dl.doubtnut.com/l/_nygsHq4gbS5e


9. Which of the following compound is not

optically active?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_nygsHq4gbS5e


10. The number of structural isomers for

 is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

C6H14

3

4

5

6

https://dl.doubtnut.com/l/_Oir4idfbBqEs
https://dl.doubtnut.com/l/_AxPYvMEYwsKl


11. The process separation of (d,l)-mixture into

its constituents is referred to as

A. fractional distillation.

B. resolution.

C. fragmentation.

D. sedimentation.

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_AxPYvMEYwsKl


12. Which of the following compounds have

plane of symmetry?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_8grFuAUoBxr7
https://dl.doubtnut.com/l/_32iFd3j8ytWk


13. Which of the following will have meso-

isomer also?

A. 2-Chlorobutane

B. 2-Hydroxy propanoic acid

C. 2,3-Dichloropentane

D. 2,3-Dichlorobutane

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_32iFd3j8ytWk


14. The molecule that has formula  with 

, and 1 sp C and chiral

isomer is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

C5H8

2sp3C' s, 2sp2C' s

https://dl.doubtnut.com/l/_JuV507Ug2A36


15. In which of the following compounds plane

of symmetry and center of symmetry both are

present?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_VpcKeJFBFo07


16. Which of the following compound does not

undergo basecatalyzed exchange in  even

through it has an a- haydrogen?

A. 

B. 

C. 

D. Both (b) and (c )

Answer: D

View Text Solution

D2O

https://dl.doubtnut.com/l/_hqyDW29nmCyI


17. Which of following compound will rotate

the plane polarized light at room

temperature?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_e1prnnU2P670


18. The number of stereoisomers possible for

the following compound is 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

CH3 − CH = CH − CH(OH) − Me

3

2

4

6

https://dl.doubtnut.com/l/_fxbBaAtecY9U


19. Which of following compounds is chiral?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_GaVQCl6BpGZP


20. Which of the following pairs of structures

fo not represent isomers?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_KHscj3jEuK7T
https://dl.doubtnut.com/l/_OOXTImkVQAqQ


21. Only two isomers of monochloro product is

possible for

A. n=butane.

B. 2,4-demethyl pentane.

C. benzene.

D. 1-methyl propane.

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_OOXTImkVQAqQ


22. The enol form of acetone, after prolonged

treatment with , gives

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

D2O

CH3 −

OD

∣

C = CH2

CH3 −

O

∣ ∣

C − CH3

CH2 −

O

∣ ∣

C − CH2D

CD3 −

OD

∣

C = CD2

https://dl.doubtnut.com/l/_3iKEK2SMyLMj


23. Which of the following is formed as

intermediate in ketoenol isomerism?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_3iKEK2SMyLMj
https://dl.doubtnut.com/l/_IG3CqqaEbYlO


24. How many optically active stereoisomers

are possible for butane-2,3-diol?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

1

2

3

4

https://dl.doubtnut.com/l/_5OzSNr36lGs9
https://dl.doubtnut.com/l/_Z3OZGEl8IpxH


25. Which of the following compound have

almost 100% enol content?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_Z3OZGEl8IpxH


26. The number of isomers for the compound

with molecular formula  is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

C2BrClFl

3

4

5

6

https://dl.doubtnut.com/l/_2FLUGfTwjDrc
https://dl.doubtnut.com/l/_ZRoK5jnVtqCu


27. On monochlorination of 2-methylbutane,

the total number of chiral compounds formed

is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

2

4

6

8

https://dl.doubtnut.com/l/_ZRoK5jnVtqCu
https://dl.doubtnut.com/l/_tvRpvH2Nr7zS


28. Which of the following compound is not

optically active?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_tvRpvH2Nr7zS


29. The number of structural isomers for

 is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

C6H14

3

4

5

6

https://dl.doubtnut.com/l/_BJ075BdLtiTo
https://dl.doubtnut.com/l/_YcjjlXJ0tebL


30. The process separation of (d,l)-mixture into

its constituents is referred to as

A. fractional distillation.

B. resolution.

C. fragmentation.

D. sedimentation.

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_YcjjlXJ0tebL


31. Which of the following compounds have

plane of symmetry?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_cgDl6vK7gy5A
https://dl.doubtnut.com/l/_JRSLw6Fcr2yN


32. Which of the following will have meso-

isomer also?

A. 2-Chlorobutane

B. 2-Hydroxy propanoic acid

C. 2,3-Dichloropentane

D. 2,3-Dichlorobutane

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_JRSLw6Fcr2yN


33. The molecule that has formula  with 

, and 1 sp C and chiral

isomer is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

C5H8

2sp3C' s, 2sp2C' s

https://dl.doubtnut.com/l/_e1YGDgnXICtm


34. In which of the following compounds plane

of symmetry and center of symmetry both are

present?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_biRO0jQiq0V6


35. Which of the following compound does not

undergo basecatalyzed exchange in  even

through it has an a- haydrogen?

A. 

B. 

C. 

D. Both (b) and (c )

Answer: D

View Text Solution

D2O

https://dl.doubtnut.com/l/_xjq6lhitR61t


36. Which of following compound will rotate

the plane polarized light at room

temperature?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_LG7YQP0QJlIz


37. The number of stereoisomers possible for

the following compound is 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

CH3 − CH = CH − CH(OH) − Me

3

2

4

6

https://dl.doubtnut.com/l/_JJhFGYK4MRjB


Integer Type

38. Which of following compounds is chiral?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_lkK4yKS1XtEa


1. The number of possible alkynes with

molecular formula  is ____________ .

View Text Solution

C5H8

2. The total number of possible isomeric

structures for trimethyl benzene is __________ .

View Text Solution

https://dl.doubtnut.com/l/_gnJHgJSMeQ6A
https://dl.doubtnut.com/l/_5kO63sYTeBlB


3. What is the total number of stereoisomers

that can exist for the molecule 2,6-

dichlorocyclohexanol?

View Text Solution

4. The number of possible alkynes with

molecular formula  is ____________ .

View Text Solution

C5H8

https://dl.doubtnut.com/l/_hUqLSgGEKOA5
https://dl.doubtnut.com/l/_a0uDJvkJIBIk


5. The total number of possible isomeric

structures for trimethyl benzene is __________ .

View Text Solution

6. What is the total number of stereoisomers

that can exist for the molecule 2,6-

dichlorocyclohexanol?

View Text Solution

https://dl.doubtnut.com/l/_sknhnFmKUm83
https://dl.doubtnut.com/l/_Fe1yPPDGqF0P

